

MATIC STORM

DECENTRALIZED SMART CONTRACT 100%



Content

1 Introduction

2 About Crypto currency

3 About MATIC Coin

4 Business Plan

01

INTRODUCTION





Work plan

This plan is world wasi Decentralizes platform.

Step into a realm where decentralization reigns supreme ,where there are no Administrator , only opportunities waiting to by seized Well come to maticstorm where a mere \$17 grants your access to a world of incentive designed to fuel your financial growth.

Experience the power of our 8 level income structure ,aptly named the Energy bonus income with each level representing a new tier of passive earning you have the chance to earn consistently effortlessly building your wealth over time .this innovative model ensure that the everyone regardless of background or experience can participate and

First step forward

Add a short text here.

Advance the second step

Add a short text here.

MATIC Join us at on a journ freedom an to elevate

Mante Colta

MATIC STORM

Join us at MATIC STORM and embark on a journey towards financial freedom and empowerment. Its time to elevate your wealth potential and become part of a decentralized revolution that knows no bounds.

02 About Crypto currency











Metal Coin

Paper Monay



ABOUT CRYPTO CURRENCY

Crypto currency is a digital or virtual from of currency that uses cryptography for security and operates independely of a central authority such as a government of bank Bit coin is the First and most well know crypto currency but ther are thousand of others including Etherum , Ripple and lit coin. Crypto currency utilize block chain Technology to maintain a decentralized and transparent ledge online purchases, Investment and remittances and have gaine popularity for their potential to offer financial privacy lower transaction fees and enable borderless transaction

03 About MATIC Coin



Powering the Polygon experience

MATIC is the currency of Polygon that enables users to interact with tens of thousands of dApps involved in our ecosystem. It is also used to secure the network by staking.

Gas Token

MATIC is the lifeblood of Polygon PoS. When you conduct any transaction or use an application built on Polygon PoS, you'll pay a small fee in MATIC to use Polygon PoS. This fee is an incentive for validates to process and verify what you're trying to do.

Network Security

Polygon employs a proof of stake mechanism that uses staked MATIC to reach consensus on the network. By staking MATIC, you can secure Polygon PoS and earn rewards. In this system, validators are disincentivized from engaging in any malicious behavior. Total Supply 10,000,000,000 MATIC Circulating supply

02

03

4

9,964,974,235 MATIC

Symbol MATIC

> Coin Name Matic Coin



01

02

03

04

TOP 10 LISTING EXCHANGE



Enter the comprehensive description of the above chart here, the comprehensive description of the above chart here, REVERT

Enter the comprehensive description of the above chart here, the comprehensive description of the above art here,

Enter the comprehensive description of the above chart here, the comprehensive description of the above chart here,

BITFINEX

Enter the comprehensive description of the above chart here, the comprehensive description of the above chart here,

BUSINESS PLAN



JOINING AMOUNT 17\$

Get start your successful journey.

17\$

100% DISTRIBUTION

DIRECT REFARRAL INCOME



YOU= 10.20\$+ 10.20\$+5.10\$+5.10\$= 30.60\$

Direct ID Get 60% From every joining Placement ID Get 30% from every joining



1ST ID UPGRADE



1ST Self ID Upgrade



USER UPGRADE TOTAL UPGRADE UPGRADE WALLET CASH WALLET 2 45S 90S 6.75S 4.5S 2 45S 90S 6.75S 4.5S 2 45S 90S 6.75S 4.5S 3 4 134S 536S 40.20S 26.80\$ 8 456S 3648S 273\$ 182.40\$ 16 2052\$ 32832\$ 2462\$ 1641.60\$ 32 12315\$ 394080\$ 29556\$ 19704\$ 64 78509\$ 5024576\$ 376843\$ 251228\$ 128 559379\$ 71600512\$ 5370038\$ 3580025\$ 128 4614830\$ 1181396480\$ 88604736\$ 59069824\$					
Image: A state of the stat	USEI	R UPGRADE			CASH WALLET
8 456\$ 3648\$ 273\$ 182.40\$ 16 2052\$ 32832\$ 2462\$ 1641.60\$ 32 12315\$ 394080\$ 29556\$ 19704\$ 64 78509\$ 5024576\$ 376843\$ 251228\$ 128 559379\$ 71600512\$ 5370038\$ 3580025\$	□ 2	45\$	90\$	6.75\$	4.5\$
16 2052\$ 32832\$ 2462\$ 1641.60\$ 32 12315\$ 394080\$ 29556\$ 19704\$ 64 78509\$ 5024576\$ 376843\$ 251228\$ 128 559379\$ 71600512\$ 5370038\$ 3580025\$	⊘ 4	134\$	536\$	40.20\$	26.80\$
32 12315\$ 394080\$ 29556\$ 19704\$ 64 78509\$ 5024576\$ 376843\$ 251228\$ 128 559379\$ 71600512\$ 5370038\$ 3580025\$	8	456\$	3648\$	273\$	182.40\$
64 78509\$\$ 5024576\$\$ 376843\$\$ 251228\$\$ 128 559379\$\$ 71600512\$\$ 5370038\$\$ 3580025\$\$	16	2052\$	32832\$	2462\$	1641.60\$
	32	12315\$	394080\$	29556\$	19704\$
	64	78509\$	5024576\$	376843\$	251228\$
☐ 256 4614830\$ 1181396480\$ 88604736\$ 59069824\$	<u> </u>	559379\$	71600512\$	5370038\$	3580025\$
	256	4614830\$	1181396480\$	88604736\$	59069824\$





ID UPGRADE

UPGRADE	MEMBER	GIVE UPGRADE	UPGRADE Wallet	CASH WALLET
🔲 1 st Upgrade	2	17\$	30.6\$	13.6\$
⊘ 2 nd Upgrade	36	45\$	75.6\$	30.60\$
3 rd Upgrade	40	134\$	224\$	90\$
4 th Upgrade	45	456\$	1025\$	570\$
5 th Upgrade	60	2052\$	6156\$	4104\$
📃 6 th Upgrade	80	12352\$	49408\$	37056\$
📃 7 th Upgrade	85	78509\$	333663\$	255154\$
🗌 8 th Upgrade	95	559379\$	2657050\$	2097671\$
9th Upgrade	110	4614830\$	25381565\$	20766735\$



TEAM UPGRADE INCOME



The upgrade Amount will be 100% Distributed Placement upline up to 8 level



TERMS

CONDITION





NO Minimum withdrawal amount



Deposit & withdrawal only MATIC Coin



Tow direct member Compulsory for Withdrawal



24 x 7 withdrawal available

Follow us

Title Text preset Title Text preset

Title Text preset Ti

Title Text preset



Thank you Listen

Here is where your presentation begins

